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A six-sided die is rolled. —_— _d:{f:‘l,f
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d) List lhlgﬂﬂl numbaer that ls not bigger than 2° then lind the probability of rolling & number that is
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e] List the event “a number bigger than B* then find the probability of rolling a number bigger than 8
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f) Ust the event “a number bess than 7* then find the probability of rolling a number less than 7
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If Pfsome event) = Hma-": we call the event W"l'lﬂﬂ:h

Exi
Jimmy flips two coins sama tima and wants to determing the probability of Aipping both heads, He lists
the sample space as 2 tails, 1 tail and 1 head). Since only 1 of the thres cutcomes is favorable, be

detenmines the probability to be;l.
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Ex3
Instead of using tree diagrams, a table can be really helpful for listing cut the sample space (all possible
outcomes). An incomplete sample is shown on the side for two B-sided dice. ey
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With your partner, pick 2 differently shaped dice from the bag and do a) to e).
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